



CLASSROOM EXAMPLE 1	Factoring Tri	nomials in $x^2 + bx + c$ Form
Factor the trinomial.		
$a^2 + 9a + 20$		
Solution:		
Step 1 Find pairs whose pro	of numbers duct is 20.	Step 2 Write sums of those numbers.
20(1)	20 + 1 = 21
-20(-1)		-20 + (-1) = -21
10(2)		10 + 2 = 12
-10(-2)		-10 + (-2) = -12
5(4)	5 + 4 = 9
-5(-4)	-5 + (-4) = -9



CLASSROOM EXAMPLE 1	Factoring Trino	omials in <i>x</i> ² + <i>bx</i> + <i>c</i> Form (co	nt'd)
Factor the trinomial.			
$b^2 - 7b + 10$			
Solution:			
Step 1 Find pairs of numbers whose product is 10.		Step 2 Write sums of those numbers.	
10(1)		10 + 1 = 11	
-10(-1)		-10 + (-1) = -11	
5(2)		5 + 2 = 7	
-5(-2	2)	-5 + (-2) = -7	
Convright © 2012-2008-2004 Pea	rson Education Inc		Slide 6.2- 5



CLASSROOM EXAMPLE 2	Recognizing a Prime Polynomial	
Factor $t^2 + 3t - 5$.		
Solution:		
Look for two expr There are no suc factored and is p	essions whose product is -5 and whose sum is 3. h quantities. Therefore, the trinomial cannot be rime.	
	Slid	e 6.2-







CLASSROOM
EXAMPLE 5Factoring a Trinomial in $ax^2 + bx + c$ FormFactor $6k^2 - 19k + 10$.Solution:

The product as is 6 (10) = 60. Look for two integers whose products is 60 and whose sum is -19. The necessary integers are -15 and -4. Write -19k as -15k - 4k and then factor by grouping.

 $= 6k^2 - 15k - 4k + 10$

 $= (6k^2 - 15k) + (-4k + 10)$

= 3k(2k-5) - 2(2k-5)

 $=(2k\!-5)(3k\!-2)$

Slide 6.2- 11





CLASSROOM EXAMPLE 7	Factoring a Trinomial in Two	Variables
Factor $6m^2 + 7mn - 5n^2$.		
Solution:		
Try some possibil	ities.	
(6m + n)(m - 5n)	$= 6m^2 - 29mn - 5n^2$	No
(6 <i>m</i> – 5 <i>n</i>)(<i>m</i> + <i>n</i>)	$= 6m^2 + mn - 5n^2$	No
(3m + n)(2m - 5n)	$= 6m^2 - 13mn - 5n^2$	No
(3m + 5n)(2m - n)	$= 6m^2 + 7mn - 5n^2$	Yes
The correct factor	ing is	
	=(3m+5n)(2m-n).	

CLASSROOM
EXAMPLE 8Factoring a Trinomial in $ax^2 + bx + c$ Form (a < 0)Factor $-2p^2 - 5p + 12$.Solution:First factor out -1, then proceed. $= -1(2p^2 + 5p - 12)$ = -1(p + 4)(2p - 3)= -(p + 4)(2p - 3)

Slide 6.2-





CLASSROOM EXAMPLE 11	Factoring a Trinomial in $ax^4 + bx^2 + c$ Form
Factor 6r ⁴ - 13r ² -	5.
Solution:	
$= 6(r^2)^2 - 13r^2 + 5$	
$= 6x^2 - 13x + 5$	Let $x = r^2$.
= (3x-5)(2x-1)	Factor.
$=(3r^2-5)(2r^2-1)$	$X = r^2$
Copyright © 2012, 2008, 2004 Pear	on Education. Inc. Slide 6.2-14